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PHILOSOPHY — GENERAL
Paper : GE/CC-2
(Western Epistemology and Metaphysics)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
1. Answer the following questions (any ten) : Ix10
(a) Do you know how to ride bicycle?— Here the word ‘know’ is used in which of the following
senses?

() In the sense of proportional knowledge (i) In the sense of knowing how
(i) In the sense of acquaintance (iv) None of these.

(b) “All men are rational animal’. This proposition is

(i) analytic (ii) synthetic
(i) synthetic a priori (iv) None of these.
(c) ‘No ideas are innate’— who said this?
(i) Descartes (i) Locke
(iii) Leibnitz (iv) Berkeley.
(d) ‘Esse est percipi’— whose view is this?
(i) Spinoza (i) Hume
(iii) Locke (iv) Berkeley.
(e) Which of the following philosophers is an extreme empiricist?
(i) Hume (i) Berkeley
(iii) Locke (iv) Mill.
(f) Who thinks that ‘experience is two-fold— sensation and reflection?
(i) Locke (i) Descartes
(iii) Hume (iv) Leibnitz.
(g) The theory which asserts that the object of knowledge exists independently of the knowing mind,
is called
(i) empiricism (i) realism
(iii) idealism (iv) rationalism.
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(h) Who thinks that body is extension without consciousness and mind is consciousness without
extension?
(i) Kant (i) Locke
(i) Mill (iv) Descartes.
(1) Which, according to Locke, is a primary quality?
(i) Fragrance of a red rose (ii) Green colour of a leaf
(iif) Extension of a material object (iv) Sweetness of an apple.
() Which of the following philosophers is not an adherent of entailment theory?
(i) Ewing (i) Blanshard
(iii) Broad (iv) Hume.
(k) “Causality is nothing more than uniformity of succession of events.” — Who holds this view?
(i) Kant (i) Aristotle
(i) Hume (iv) Descartes.
(I) The theory of the relation between mind and body as propounded by Spinoza is known as
(i) interactionism (i) parallelism
(iii) identity theory (iv) occasionalism.
2. Answer the following questions (any five) : 5%5
(a) What are the conditions of propositional knowledge? Explain briefly.
(b) ‘I think, therefore I am’— who said this? Explain the significance of the statement.
(c) How does Locke refute Descartes’ doctrine of innate ideas? Discuss two arguments given by
Locke.
(d) ‘Sense experience is the primary source of all knowledge’. Which school of philosophy does hold
this view? Give two arguments— each in favour and against this view.
(e) What is a synthetic a priori proposition? Explain with an example.
(f) Describe the main tenets of naive realism.
(2) How does Locke distinguish between primary and secondary qualities? Discuss.
(h) Explain, in brief, the main tenet of interactionism regarding the relation between mind and body.
3. Answer the following questions (any two) :
(a) Explain and examine rationalism as a theory of the origin of knowledge. 10+5
(b) Discuss Berkeley’s subjective idealism. Does it necessarily lead to the path of solipsism?
Justify your answer. 10+5
(¢) What is meant by the relation of entailment between cause and effect? Discuss the main
arguments provided for and against the entailment theory. 545+5
(d) Explain and examine Interactionism as a theory regarding the relation between body and mind.
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